SR IR TRE!

B4R H LR S N TR YD X 2 A S EE R R
T S HE 4 (T
FEAZH 1,349. 15
i H 2 5,317. 11
PR
Fll R R FE 4 (T
WO L T T 4 0.00
HA N R S H 38. 00
BEEREREES, RHESES, BEHART, &5
MRS E R HRAIE ., . REBBUF T4yt o sfan., JFRE
MSRTIKCE, Bk IA IS 2 TR .
2K E B P 2%
I NRE AR, Hdk AR
B FILE, I CHEONT ‘%
TR kRS SRR, b
A — iy A TS (AN
s, peapp | EORTOTAFGL, FRUNEIR S
OIS 8% SO | ST, RREmG)
ﬁ% AREIRITIRBEE g R, SRS . EEL. VR
SIEFIREER, EAREsE R R
GRRIREAL LR, R RS BE 78 ¢
R3Sy T2 5 T P AR
SEHL N IRS KRR
5] 5 A R EE T 7 IR AR S A
PR AL T S 4 B R
e BRI 78 ¥ B 2445 h AT R
VE B YE, Hrag! - R . s
il e B [ NSRS T AL N 2
;g e £or 5 =P S e o B =
MRS BRI RO RE
. EASISTHEEBER A, A
WB “DURMEA” SEHIRE .
SRR N TAET S A e e Rals B TR, ok

SRR Y, RReRYE
PR ES R
R

e P R AL B S5 X S I e 2 7
BU o s 5 R BURTE A D 18 4
v ZERACE, ROCHR R A

SRk RGEYE, FRE
A 2IR R B 7 v R
K

WRAE 5 WRRAEIETR
ARG, (ki LR
B, YSKIREL, RO “BU
T GRETILOIE, R <Y il
LG BWIEE. SFA
A MGG, AREARE,
HERFBEATRR O, fh A
BURCHE L.

BRI B, R
HEEEIA 1 PR 5
R

K
=
L==A

AREETIVESE (RP T R) HERUE
FHI, BIT XSS oA
HUR 5| B 2 AR S TS
EIE Y, AR THER RS 2
RIX RN I MRS J1. ARSI
IR BRI BT TR
DTG RERIE, HEAMH
SRR S5 vl S RS W X
R UL

HAFSERMESS ATk

= Heh 422 AT R AT R ke

HT e e [0 A% 37 42 b B W 2R A

1 0one



1)

R BIGR B RPF IPRPFRIEXALD LK /NI H i A1) IAIX /N DL sk e

1, Ot

SR

—JARbR

R FRR

7 AR bR

B fahs

RS

INEVEisE

AR

By EnEi=E o

LU R TR AR

AR SR =LA

A R AR bR

CIESE=3-ATEELN

R AR

55 %8 G ' BE Ha b




S EltmERiRaR

WK a7
NS &N 6, 704. 26
FoAt vt < 0. 00
LS 2epiy W45 (Jit)
XA G A 55 4 6, 666. 26
T R SN B 38. 00

BRFEACH T 2IEIB MY, BERZHI AU IR F Vb B0k TAEBURAL B b sk . IR AT

REG . BERTRRIG SO AV F S BERRS R TS,

M2 EAR R, B2

PHRARITEE (o)

WEIERIR HAR (kD

90. 00

AN 48 i N BB AR ) BRA A S A K

90. 00

X AT 38 B T S BB TAR A AR &7 T

1, 635. 50

R EXA 2L 2TEE.

100. 00

HEBI A 22 v B A 4 i 4 4 v o K e

159. 60

I

N R SRE ISR SRR E R .

N TR AN




7 \JJJu)

X E =2

St A R R

FREARARE

S R

100%

100%

KM

100%FF & A FRIEHEM

L00%FF A A7 KL HE I

B I TAF LI SRR (%)

=>98% =>98%
X & 2 2y R Ak 2R =80% =80%
AT T/EE S %) =80% KA 5 =81% RN ;A




